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UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. Minor 1st Semester Examination, 2023

UECOMIN10001-ECONOMICS
ESSENTIALS OF ECONOMICS

Time Allotied: 2 Hours 30 Minutes

The figures in the margin indicate full marks.

GROUP-A / Ron-3 / wg-®

Answer any four questions
@A-CFHAl 51 arsa Beg wies
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(a) Define production function. What will be the value of Marginal Product (MP) 1

when Total Product (TP) is maximum?
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(b) What is meant by price discrimination?
TN sRFEad e B QR 2
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(¢) What is M,, M3 and M, in Indian context?
SRS My, Mz G My & ?
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(d) What is Bank rate?
G
AP RFA?
(e) Define Hyper inflation, Galloping inflation and Walking inflation. _
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(f) Distinguish between fixed and variable cost with examples.
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GROUP-B / @ori-¢ / wgw@

Answer any four questions
Q- Fi3f7 evia Saa wie
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Define Marginal Cost (MC). Why Marginal Cost curve is ‘U’ shaped?
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Discuss briefly the ‘Circular flow of Income’.
‘IR JERICS 'R HID {7 F2!
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Discuss several anti inflationary measures. 6
yardf P T smfoef wets w3
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Distinguish between oligopoly and duopoly. What are the characteristics of 343
oligopoly market? o
wRaNeleT @ Gratel e #iefe) @rd | SRitsif et o ciEErefer R e o
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What are the functions of a Central Bank? : 6
cRraEIE R
Fh i feaee $ FH o9 2

‘What is law of demand? What are the determinants of demand? 2+4
wiftwt Sl @ viRR Pidiree® Renefi i fe 9
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GROUP-C / fAem-4 / wyg ,
Answer any fwo questions 12x2=24
@-ECH i aTis T we
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What is indifference curve? Derive the consumer’s equilibrium with the help of 2+10
indifference curve and budget line.
BRTIT 4L oS 5 Rl 9 AT Gl @ ACED AU TR IR SR Ff 391
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Critically discuss the credit creation mechanism of commercial banks. 12
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What is national income? State several difficulties of measuring national income. 2+10
=S wia R 7 WS oy +Rwicer Koy Trmef wierst F6)
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What is perfect competition? Discuss the short-run equilibrium in a perfectly 2+10
competitive market.
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